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NENTRE T TR =y TF o F « Aaya—RK ho kN7
JEAT SN K4 it GROSS| HDCP | NET | crossit = JIEAST ZINFE K4 [ 75 | GROSS| HDCP | NET |crossif 3z
15 5F 44 40 84| 14.4 |69.6 3 5111 &k 49 44 93/18.0 |75.0
2\f& 3 Ak 45 42 87| 16.8 | 70.2 YELE IS 52|45 ik 45 48 93/18.0 | 75.0
3B AR 43 37 80| 9.6 |70.4 REDA 53| AKS 4l 54 51 105/30.0 | 75.0
410EE &+ 42 41 83/ 12.0 | 71.0 A 54| FHI ft 45 53 98/22.8 | 75.2
5 g FEE 41 42 83/12.0 | 71.0 5\ 55 7= 5%—ER 46 45 91| 15.6 | 75.4
6 |TLIR: 7546 43 40 83/ 12.0 | 71.0 6 fif 56| U8 [~ % 48 49 97/21.6 | 75.4
TIIUF == KB 40 36 76| 4.8 |71.2 7 hr 57| [ fdt— 48 49 97/ 21.6 | 75.4
8| A ¥ 37 45 82/10.8 | 71.2 8L 58| HAT H— 50 53| 103]27.6 |75.4
9|14k 1t 42 39 81| 9.6 |71.4 9 {ir 59)11H FiE 38 40 78| 2.4 |75.6
10|/AK FEF 44 42 86/ 14.4 | 71.6 1 0f7 60 FEAR HEKR 44 40 84| 8.4 |75.6 =1
11| A% FE 48 50 98/26.4 | 71.6 61 ik =% 47 43 90| 14.4 | 75.6
12 8H X 40 45 85/ 13.2 | 71.8 62| R FHH 49 53| 102/26.4 |75.6
130 EE 44 47 91119.2 | 71.8 63| KJIl FH 46 43 89/13.2 |75.8
145 H4 49 47 96/24.0 | 72.0 64| EMH FEZ 51 44 95/19.2 | 75.8
15 ik Fe 41 41 82| 9.6 |72.4 65 e 1E— 52 49! 101]25.2 | 75.8
1680 F# 49 45 94| 21.6 | 72.4 66 | J&5F fiL 51 50/ 101/25.2 |75.8
17 M ZRiE 52 48 100} 27.6 | 72.4 67 FA EAT 43 45 88/ 12.0 |76.0
18| &R 3, 40 41 81| 8.4 |72.6 68| [ B R 49 45 94/ 18.0 |76.0
1958 FE 44 43 87/ 14.4 | 72.6 69|71 fdt— 48 46 94| 18.0 | 76.0
PR 44 42 86| 13.2 | 72.8 RE 70|78 R HE— 46 48 94/ 18.0 |76.0 RE
21])114 E— 40 44 84| 10.8 | 73.2 T1ER R’ 55 45|  100|24.0 |76.0
22 KA LA 39 51 90| 16.8 | 73.2 T2|/K e 52 48] 100]/24.0 | 76.0
23|3EA Foth 49 47 96/22.8 | 73.2 T3/KNH FE 52 48 100]24.0 |76.0
24 BH BF#H 48 48 96/22.8 | 73.2 74| EM JEE 50 50| 100]24.0 | 76.0
25| [ H FER 46 43 89| 15.6 | 73.4 75| B BPEE 2 49 51 100]24.0 |76.0
26| - H #IE 43 46 89| 15.6 | 73.4 76| KA =+ 52 54 106/ 30.0 |76.0
27 =Pk i 47 48 95/21.6 | 73.4 TN F 47 52 99]22.8 |76.2
28| A FOHR 48 47 95(21.6 | 73.4 78| A H FnlE 52 47 99]22.8 | 76.2
29 IEEF HER 48 46 94120.4 | 73.6 97K F 53 52 105/ 28.8 |76.2
30| 2 45 42 87| 13.2 | 73.8 TEE 80| Fivin FokE 52 40 92| 15.6 | 76.4 =1
31K sl 43 50 93/19.2 | 73.8 S1TE/K Kik 47 45 92/ 15.6 | 76.4
32| AN EFn 39 41 80| 6.0 |74.0 82| 58 40 98] 21.6 |76.4
33| W< F 47 39 86| 12.0 | 74.0 83|/hTF BEBH 57 53 110]33.6 | 76.4
fEH P 41 45 86| 12.0 | 74.0 84| =y B 47 44 91| 14.4 | 76.6
35 MAA JH e 46 46 92/18.0 | 74.0 85|k Fu = 49 42 91| 14.4 | 76.6
36 |3 AE sEH 43 42 85/ 10.8 | 74.2 86| AH A 41 43 84| 7.2 |76.8
RYAE Y 2 o 41 43 84| 9.6 |74.4 87/E K Fnz 46 44 90/ 13.2 | 76.8
381U Tk 48 42 90| 15.6 | 74. 4 88 MK FK 42 48 90| 13.2 | 76.8
39| KH F5 47 43 90| 15.6 | 74.4 89 /NBF P 40 56 96/ 19.2 | 76.8
40| LA P 43 47 90| 15.6 | 74. 4 FRE 90 & HH JEm 50 46 96/ 19.2 | 76.8 TR
41 |IRES B 55 41 96| 21.6 | 74.4 91K =g 51 51| 102/25.2 |76.8
42| FFH == 50 46 96| 21.6 | 74.4 92| FJI| ZEE 50 52 102]25.2 |76.8
43| FAAR JRH 44 52 96/ 21.6 | 74.4 93 | AR H Fhi 49 53 102]25.2 |76.8
44 | HFT 18 49 40 89| 14.4 | 74.6 94| kA 2 45 57 102]25.2 |76.8
45| 5 fa 43 46 89| 14.4 | 74.6 95 | FR B 55 53| 108]31.2 |76.8
46 B3 1Es 46 43 89| 14.4 | 74.6 96| KH #'BH 38 45 83| 6.0 [77.0
47 | I0E% 44 45 89| 14.4 | 74.6 97| iy &5k 44 39 83| 6.0 |77.0
A8|FF |- TEf# 48 47 95/20.4 | 74.6 985 BB 44 45 89]12.0 |77.0
49| IUAR mE— 47 48 95/20.4 | 74.6 99 #H: At 51 44 95/18.0 | 77.0
50| R E #Z 48 46 94/19.2 | 74.8 FHEE 100 A1 WE #8f—Bl 48 47 95/ 18.0 | 77.0 RE
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fEfH=—2 b A 2PN CBEM212 N 23 N A EF235A
NENTRE T TR =y TF o F « Aaya—RK ho kN7
JEAT SN K4 it GROSS| HDCP | NET | crossit = JIEAST ZINFE K4 [ 75 | GROSS| HDCP | NET |crossif 3z
101 |FHH st 48 47 95/18.0 | 77.0 151142 W F&EER 54 48 102]22.8 |79.2
10275 B — 48 53| 101]/24.0 [77.0 152/ )1 3 53 49 102]22.8 |79.2
103 %57k H.H] 44 44 88/ 10.8 | 77.2 153/ FTH B 51 51 102]22.8 |79.2
104 ¥oc EE 47 47 94| 16.8 | 77.2 154|711 5 47 55 102]22.8 [79.2
105 |JTff F£3C 47 47 94| 16.8 | 77.2 155|350 W 56 58| 114[34.8 [79.2
106 | LR fCr 52 48|  100]22.8 | 77.2 156| 7% FA 44 51 95| 15.6 | 79.4
1075 16 52 54 106] 28.8 | 77.2 157 |tk 28] 52 49 101]21.6 |79.4
108 KM = 44 49 93| 15.6 | 77.4 16583 H E=—F8B 57 50, 107]27.6 | 79.4
109| =K K3k 48 45 93| 15.6 | 77.4 159/ &K & KER 50 44 94| 14.4 |79.6
110 #REE fHEE 47 46 93/ 15.6 | 77.4 R 160354k — 53 59| 112]32.4 [79.6 =1
111 H)1 #kT 45 48 93| 15.6 | 77.4 161 | ek 47 46 93/13.2 |79.8
112350 BIK 50 43 93/ 15.6 | 77.4 162 A FEAA 49 50 99/ 19.2 |79.8
113| =F &AL 57 54| 111/33.6 |77.4 163 EK 51 54| 105/ 25.2 [79.8
114|384 BT 48 44 92| 14.4 [ 77.6 164 58 HEE 53 52| 105]25.2 |79.8
116|/A& %— 50 48 98] 20.4 | 77.6 165 /B8 H BUZ 61 50/ 111/31.2 [79.8
116 30 AR 45 53 98] 20.4 |77.6 166| F{g 5<— 54 57 111/31.2 |79.8
117 bR H#%E 55 49 104|26.4 | 77.6 167|374k 1EA 52 57| 109]28.8 |80.2
118|FfE = 54 50/ 104|26.4 |77.6 168|214 51 51 102|21.6 |80.4
119] L F¥E 51 46 97119.2 | 77.8 169| T fil— 49 53| 102/ 21.6 |80.4
120/ 1A FR54 56 47| 103]25.2 [77.8 HE 170F8 Bz 55 53| 108|27.6 |80.4 HKE
121 %G Be 46 44 90/ 12.0 | 78.0 171 6H B 48 47 95/ 14.4 | 80.6
122| KIE ff 46 50 96| 18.0 | 78.0 172\ 5K B 57 50 107] 26.4 | 80.6
123 F 1L EHT 47 49 96| 18.0 | 78.0 173/ FniA 53 54 107|26.4 |80.6
12455 EX 52 44 96/ 18.0 | 78.0 174 5H 5 49 51| 100/19.2 |80.8
1258 H =EA 51 51 102/ 24.0 | 78.0 1752 8 56 50/ 106|25.2 |80.8
126 15 KB 48 54 102] 24.0 | 78.0 176|1FE R 54 58 112]31.2 |80.8
127 1L H =15 54 54/ 108/30.0 |78.0 177/ 5 553 49 50 99/ 18.0 |81.0
128 =K J 44 45 89| 10.8 | 78.2 178 K1 #| 55 50 105/ 24.0 |81.0
129)11FH E 45 44 89| 10.8 | 78.2 179K H W< A 55 49| 104|22.8 | 81.2
130 /NBs kst 46 55| 101]22.8 |78.2 Y 180 3+ ¥+ 50 54| 104][22.8 [81.2 =1
131|5FH & 54 47 101]22.8 |78.2 1814 F —8 60 50/ 110]28.8 [81.2
132|% M HH] 52 55 107/ 28.8 | 78.2 182 K FEJA 54 56 110]28.8 |81.2
133/ %t 47 47 94| 15.6 | 78.4 183 /MK Gk 54 56| 110]28.8 |81.2
134 LH 3% 48 52| 100/ 21.6 |78.4 184 |/6 1 B — 52 57 109/ 27.6 |81.4
135|784 Fnzzs 50 56 106/ 27.6 | 78.4 185|E) EEk 58 57| 115/33.6 |81.4
136 K)11 VEF 48 39 87| 8.4 |78.6 186/ /)\H B 49 47 96| 14.4 | 81.6
137 |22/ Fnsk 46 47 93| 14.4 | 78.6 187 %W 53 55 108]26.4 |81.6
138 |4TiE 78 49 50 99/20.4 | 78.6 188/ H E 44 51 95/ 13.2 |81.8
139 KH ®&—M 54 51 105/ 26.4 | 78.6 189|3THE &l 44 50 94| 12.0 |82.0
140 = J5 11T 52 53| 105|26.4 |78.6 RE 190 | H: =] 48 58/ 106]24.0 [82.0 RE
141 | RiAS 5k 51 54| 105 26.4 | 78.6 191 /W B 50 56/ 106/24.0 [82.0
142 |{FHiE 2211 50 55 105| 26.4 | 78.6 192/ x A T 55 57 112/30.0 |82.0
143 HFH Ot 47 51 98/ 19.2 | 78.8 193| KEE &1L 57 61 118/36.0 |82.0
14| ER)] B— 51 53 104] 25.2 | 78.8 194 njE 5 57 54| 111[/28.8 |82.2
145/ /)11 =1 45 46 91]12.0 | 79.0 195 | #REE it 53 50/ 103]/20.4 |82.6
1465/ RS 50 47 97/ 18.0 | 79.0 196| Kix fih — 58 57| 115/32.4 [82.6
147 =ik L 56 A7) 103/ 24.0 |79.0 197 5% e 57 58 115/ 32.4 |82.6
148 KiE 1EE 51 52| 103/24.0 |79.0 198|IAA B — 58 55 113/30.0 |83.0
149| )= iz 48 48 96| 16.8 | 79.2 199 |{(FtE Ep% 53 53| 106]22.8 [83.2
150 | AR S JREE 46 50 96| 16.8 | 79.2 FHEE 200 By s 58 53| 111/27.6 |83.4 EE
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JIEAT. SN K4 H it P8 | GROSS| HDCP | NET | crossh e JIEAT SN K4 H 1t P8 | GROSS| HDCP | NET |crosshsi %

201 | flp A4F 48 50 98] 14.4 | 83.6

202 BR IE 52 58/ 110]26.4 |83.6

203 AR ik 60 56 116/ 32.4 |83.6

204 Jnk &2 49 60| 109]25.2 |83.8

205 Tk FEH 47 62 109] 25.2 |83.8

206| _fF &4 51 44 95| 10.8 | 84.2

07 ER) EFR 57 55| 112]27.6 |84.4

208|452 H ZFE1E 52 60 112]27.6 |84.4

209 B WA 56 55| 111]26.4 |84.6

210|757k FE== 48 55| 103/ 18.0 [85.0 R

AL LN 59 56 115/30.0 | 85.0

212 | IE3E 65 56| 121/36.0 |85.0

21375 KRR 53 61 114]28.8 | 85.2

214|/NBPH 15T 67 53| 120]34.8 |85.2

215|428 KIr 57 50/ 107]21.6 |85.4

216 fiH 1EE 64 49| 113]/27.6 | 85.4

217 | kAN 7R 54 51| 105/ 19.2 |85.8

218|mIE ®I2 50 61| 111]/25.2 |85.8

219| = [E# 61 56/ 117/31.2 |85.8

22075k S L+ 65 57| 122]36.0 | 86.0 B

221 | 51| B H] 60 62 122]36.0 |86.0

222 Fg M Fogs 54 61 115/ 28.8 | 86.2

223 |G F)A 53 59| 112]25.2 |86.8

224| =K EHF 59 57| 116]28.8 |87.2

225 | FH R LA 66 57 123/ 34.8 |88.2

226 | /KB SEHH 65 54|  119]30.0 |89.0

227|858 HE 57 59 116/ 26.4 |89.6

228 A T = 53 58| 111]20.4 |90.6

229| F I R 58 71] 129]36.0 [93.0

230|HE H [E1T 63 64| 127/33.6 |93.4 TEE

231 1FE B 68 63| 131/36.0 |95.0

232 B #ase 63 65/ 128/32.4 |95.6

233|[H E— 71 55| 126/30.0 |96.0

234 | K¥F #H 74 65 139]36.0 |103.0 BB

235 | KR A 72 73 145] 36.0 |109.0

3/ 3 T IEFEBREEI—R



